

(1) 1

Maria O. Morphy - Encheli

18/ENGT 1051

MATH 104.

Assignment.

1. Integrate $4 \ln e^x (3x+1)$

Differentiate $f = [(x+1)^2 (x-2)^{1/2}] / [(2x-1)(x+3)^{3/2}]$.

Using logarithmic rule

$$f = \frac{UV}{WR}$$

$$\ln f = \ln U + \ln V - \ln W - \ln R.$$

$$\frac{1}{f} \cdot \frac{df}{dx} = \frac{1}{U} \frac{dU}{dx} + \frac{1}{V} \frac{dV}{dx} - \frac{1}{W} \frac{dW}{dx} - \frac{1}{R} \frac{dR}{dx}$$

$$\frac{df}{dx} = f \left[\frac{1}{U} \frac{dU}{dx} + \frac{1}{V} \frac{dV}{dx} - \frac{1}{W} \frac{dW}{dx} - \frac{1}{R} \frac{dR}{dx} \right].$$

$$U = (x+1)^2, \quad \frac{dU}{dx} = 2(x+1)$$

$$V = (x-2)^{1/2}, \quad \frac{dV}{dx} = \frac{1}{2} (x-2)^{-1/2} = \frac{1}{2} \frac{1}{(x-2)^{1/2}}$$

$$W = (2x-1), \quad \frac{dW}{dx} = 2(2x-1)$$

$$R = (x+3)^{3/2}, \quad \frac{dR}{dx} = \frac{3}{2} (x+3)^{1/2}$$

$$\frac{df}{dx} = \frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1)(x+3)^{3/2}]} \left[\frac{1}{(x+1)^2} \cdot 2(x+1) + \frac{1}{(x-2)^{1/2}} - \frac{1}{(2x-1)^2} \cdot 2(2x-1) - \frac{1}{(x+3)^{3/2}} \cdot \frac{3}{2} (x+3)^{1/2} \right]$$

$$\frac{df}{dx} = \frac{[(x+1)^2 (x-2)^{1/2}]}{(2x-1)(x+3)^{3/2}} \left[\frac{2}{x+1} + \frac{1}{2(x-2)^{1/2}} - \frac{1}{2(2x-1)} - \frac{3}{2} \frac{1}{(x+3)^{1/2}} \right]$$

2. Differentiate $y = \frac{[3e^{2x} \sin x]}{[x^{3/2}]}$.

Log
 lang logarithmic rule.
 $y = \frac{uv}{w}$

$$\ln y = \ln u + \ln v - \ln w$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{1}{u} \frac{du}{dx} + \frac{1}{v} \frac{dv}{dx} - \frac{1}{w} \frac{dw}{dx}$$

$$\frac{dy}{dx} = y \left[\frac{1}{u} \frac{du}{dx} + \frac{1}{v} \frac{dv}{dx} - \frac{1}{w} \frac{dw}{dx} \right]$$

$$u = 3e^{2x} \Rightarrow \frac{du}{dx} = 3e^{2x} \cdot 2 = 6e^{2x}$$

$$v = \sin x \Rightarrow \frac{dv}{dx} = \cos x$$

$$w = x^{3/2} \Rightarrow \frac{dw}{dx} = \frac{3}{2} x^{1/2}$$

$$\frac{dy}{dx} = \frac{[3e^{2x} \sin x]}{[x^{3/2}]} \left[\frac{6e^{2x}}{3e^{2x}} + \frac{1}{\sin x} \cdot \cos x - \frac{1}{x^{3/2}} \cdot \frac{3}{2} x^{1/2} \right]$$

$$\frac{dy}{dx} = \frac{[3e^{2x} \sin x]}{[x^{3/2}]} \left[2 + \cot x - \frac{3}{2} x^{-1} \right]$$

2. Differentiale $y = \frac{[3e^{2x} \sin x]}{[x^{3/2}]}$.

logarithmische
 lang logarithmische
 $y = \frac{u \cdot v}{w}$

$$\ln y = \ln u + \ln v - \ln w$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{1}{u} \frac{du}{dx} + \frac{1}{v} \frac{dv}{dx} - \frac{1}{w} \frac{dw}{dx}$$

$$\frac{dy}{dx} = y \left[\frac{1}{u} \frac{du}{dx} + \frac{1}{v} \frac{dv}{dx} - \frac{1}{w} \frac{dw}{dx} \right]$$

$$u = 3e^{2x} \quad \frac{du}{dx} = 6e^{2x}$$

$$v = \sin x \quad \frac{dv}{dx} = \cos x$$

$$w = x^{3/2} \quad \frac{dw}{dx} = \frac{3}{2} x^{1/2}$$

$$\frac{dy}{dx} = \frac{[3e^{2x} \sin x]}{[x^{3/2}]} \left[\frac{1}{3e^{2x}} + \frac{1}{\sin x} \cdot \cos x - \frac{1}{x^{3/2}} \cdot \frac{3}{2} x^{1/2} \right]$$

$$\frac{dy}{dx} = \frac{[3e^{2x} \sin x]}{[x^{3/2}]} \left[1 + \cot x - \frac{3}{2} x^{-1} \right]$$

Q. 2

Integrieren mit für $C^2(3n+1)$.

$$\int 4 \sec^3(3n+1)$$

Let $u = 3n+1$, $du = \frac{1}{3} dn$

$$\int 4 \sec^3 u \cdot \frac{1}{3} du$$

$$= \frac{4}{3} \int \sec^3 u du$$

$$= \frac{4}{3} \tan u + C$$

$$= \frac{4}{3} \tan(3n+1) + C \quad \text{H.}$$

Q. 2

Integrieren $2t(3t^2-1)^{1/2}$

$$\int 2t \cdot (3t^2-1)^{1/2} dt$$

Let $u = 3t^2-1$, $\frac{du}{dt} = 6t$, $dt = \frac{1}{6} du$

$$\int 2t \cdot (3t^2-1)^{1/2} dt = \int (2+u)^{1/2} \cdot \frac{1}{3} du$$

$$= \frac{2}{3} \int u^{1/2} du$$

$$= \frac{2}{3} \cdot \frac{2}{3} u^{3/2} + C$$

$$= \frac{4}{9} u^{3/2} + C$$

$$= \frac{4}{9} (3t^2-1)^{3/2} + C \quad \text{H.}$$

Q. 2

Integrieren mit für $C^2(3n+1)$.

$$\int 4 \sec^3(3n+1)$$

Let $u = 3n+1$, $du = \frac{1}{3} dn$

$$\int 4 \sec^3 u \cdot \frac{1}{3} du$$

$$= \frac{4}{3} \int \sec^3 u du$$

$$= \frac{4}{3} \tan u + C$$

$$= \frac{4}{3} \tan(3n+1) + C \quad \text{H.}$$

Q. 2

Integrieren $2t(3t^2-1)^{1/2}$

$$\int 2t \cdot (3t^2-1)^{1/2} dt$$

Let $u = 3t^2-1$, $\frac{du}{dt} = 6t$, $dt = \frac{1}{6} du$

$$\int 2t \cdot (3t^2-1)^{1/2} dt = \int 2+u^{1/2} \cdot \frac{1}{3} du$$

$$= \frac{2}{3} \int u^{1/2} du$$

$$= \frac{2}{3} \cdot \frac{2}{3} u^{3/2} + C$$

$$= \frac{4}{9} u^{3/2} + C$$

$$= \frac{4}{9} (3t^2-1)^{3/2} + C \quad \text{H.}$$

3

$$\int \frac{2x}{(4x^2-1)^{1/2}} dx$$

$$\text{Let } u = 4x^2 - 1, \quad du = 8x dx, \quad dx = \frac{1}{8} du$$

$$\int \frac{2x}{(4x^2-1)^{1/2}} dx = \int \frac{2x}{u^{1/2}} \cdot \frac{1}{8} du$$

$$= \frac{1}{4} \int u^{-1/2} du$$

$$= \frac{1}{4} \left[-\frac{1}{2} u^{-1/2} + C \right]$$

$$= -\frac{1}{8} u^{1/2} + C$$

$$= -\frac{1}{8} \sqrt{4x^2-1} + C //$$

3

$$\int \frac{2x}{(4x^2-1)^{1/2}} dx$$

$$\text{Let } u = 4x^2 - 1, \quad du = 8x \, dx, \quad dx = \frac{1}{8} du$$

$$\int \frac{2x}{(4x^2-1)^{1/2}} dx = \int \frac{2x}{u^{1/2}} \cdot \frac{1}{8} du$$

$$= \frac{1}{4} \int u^{-1/2} du$$

$$= \frac{1}{4} \left[-\frac{1}{2} u^{-1/2} + C \right]$$

$$= -\frac{1}{8} u^{1/2} + C$$

$$= -\frac{1}{8} \sqrt{4x^2-1} + C //$$